1. The average of scores of 12 students 1n a test
" is 74. The highest score is 79. Then the

minimum possible IOWESL SCOTe must be -

(1) 17

(2) 18

(3) 19

4) 20

2.  Inaschool, 32 students study Maths, 28 study

Physics and 26 study Chemistry. If there are
in total 40 students in the school and all of
them study at least one of these subjects, what
1S the mauamum number of students that
could have studied all the three subjects?

-2

(2) 4

3) 6

(4) 8

of the World's religions in Chicago?
(1) May, 1893

(2)  July, 1893

(3) September, 1893

(4) November, 1893
4.

liberal leader?

(1) Dadabhai Naoroji

(2) Gopal Krishna Gokhale
(3) Feroz Shah Mchta

(4) Bipin Chandra Pal

S.

years,” Who said this?
(1) Abul Fazl

(2) Badayuni
(3) Finishta
(4) Nizamuddin Ahmad

6. A solid sphere of gold of radius 3 cm is 6.
melted and three spheres are formed. The

radit of two spheres are 1.5 cm and 2 cm. The

radius of third sphere is equal to -
(1) 25¢cm
(2) 23cm
(3) 2.1cm
@) 18em
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When did Vivekanand attend the Parliament

Who among the following is not called a

“There was never been 4 musician like
Tansen in India in the last thousands of

1. U& 12 O @ 99e ¥ I iEa W
74 &) IEaH WTQiE 79 B W AR Ty
ureria g ke -

(1) 17
(2) 18
(3) 19
@ 20

2. Ua W # 32 faumit nftra 28 s aiw
26 THIUH W Yed €| R e % || 40
farf & sk & ) o9 4 &9 @ Rwg ey

g T Ryl & gga ad sfewaw ol )
"wEn o @2
d) 2
(2) 4
3) 6
4) 8§ IR
3. Mwrm= A e § R o wwe 3 o
|/ fSa?
(1) %%, 1893

(2) TIE, 1893
(@ e, 1893

. Praffem % ¥ Serard S @ @

S. ‘ﬁwmﬁﬁmﬁaﬁﬁaﬁ

AR B —

(1) 25979
(2) 239
- (3) 219
@ 189




31

7. If Odcabdcabdeab........=— then the 7- A% O.dcabdcabdcab. ..o = 31
value of st is: (a. b. c and d are distinct ar .:::-: W 2 (a, b, ¢ Sﬂf d JAAT—zyom =L
mgﬂsmﬂlnfmﬁnmnm} £, mﬂﬂm!ﬁqﬁﬂ
(n 2 Q) 2
(2) 4 (2) 4
(3) 6 3 6
4 8 4) 8 |

8  What was the capital of founder of Pratihar 8. WfAER & wWwmsm sRU¥9E # F= W
ruler Hanishchandra? T oft?
(1) Jodhpur (1) S
(2) Mt Abu (2) wIS«= Y
(3) Mandore (3) wvER
(4) Merta (4) wsal
9. Among the following buildings, which ones 9. %1 g5Ral & A Y arewme T g Hffa
are built by the Mughal Emperor Babar? R & -
(a)  Kabuli Bagh Masjid (Panipat) (a) e AT ARG ()
(b)  Panch Mahal (Delhi) ) 99 wEd (Reeh)
(c)  Jama Masjid (Sambhal) (©) < AR (W)
(d)  Jama Masjid (Hisar) (d) @ ARSE (RER)
Select the correct answer using the code A9 A T HE F W H@ Gel I B
given below - qq+ $IfIY —
(2) a,c (2) a. c
3 c.d
(3) c.d
10.  Kudrat Singh of Rajasthan is associated with 10, T B Hava fe fFa ewfdicn 9§ 9@
which handicrafis? g’
(1) Usta Kala d) T Bl
(Z) Bandhej (2) S
(3) Blue Poutery (3) @y ufed
(4) Meenakarn @ = |
I11. The Sanskrit Pathshala was built at Ajmer by 11. f5a e wH® & W1 IR | S 6¥pd
which Chauhan ruler, that was later on qISYTAT d1aTs o, Iy drgar Uad q 3eTE
converted by Aibak into Adhai Din Ka fas1 @1 Hver af&ag aqarg?
Jhonpra?
(1) Ajayraj (1) 3OIATH
(2) Amoraj (2) IAORTA
(3) Vigrahraj IV 3) e g
(4) Prithviraj LI (4) YR g
12.  Which of the following two months in a year 12. % ¥ # F=ifoiflaa # & @1 4 E’f HEAT &1
have same calendar? HAUST HATA BIT?

(1) June and October (1) 7 3R IERER

(2) April and November @ A IR TR

(3) April and July (3) e R g

(4) October and December 4) T AR R

OB-% Page 3 of 16
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13. The total surface area of a right c:mglu:wm: 13 Q"‘;”m R R mm
- 1760 cm? and diameter of its base is 28 e g A 8| TG BT TOT IS Erawy g
Ttwcuﬁcdsuﬁu:cmau[ﬂtmnﬂ 1S - (1) 1452 aif A
(1) 1452 cw’ (2) 528 ﬁﬁ:ﬁ
(2) 528 ey’ (3) Il“ﬂfﬁﬁﬁ[ |
3) 1144 e’ &) 704 L |
(4) 704 co’ ore & g W Sra nfafaeat & =
14. In which state Bedsa village was the centre o R frq qroa A 91’
Bhil activities ""dcrﬂwleyfienhip of Govind agan M
2 |
?;T Dungarpur (1) FTRE
(2) BansWara (2) arEATSI
(3) Suolu (3) e
(4) Idar (4) TR | '
15, Which ““.hc M?hmluglsl is not related to 15, ad 1961 | 1969 @) Wfa & <N -ﬁl ﬁﬁl "
:ﬁ:T«:ﬁ: T;;‘“:b;"ﬂﬂ made during the :ﬂ; graﬁﬁm FHream & G At
| .
(1) RS- Agrawa) (1) 3. JuarE
{2) B.B. La)
(3) BK.Th (2) #FN& oA
g . AT
(4) M.D. Khare (3) dAa
16. Who was made (he Ra (4) UHSL @R
of Matsya Sangh? IPrAmukh (State head) 16, wE GY BT JAUHE AT TAT —
(1) Ruler of Bharatpur (1) AR & MED B
(2) Ruler of Dholpur (2) HEYR & WHD B
::’ Ruler of Alwar (3) TR & AHD B
17. '!h-:, d:mtf:: of Karaul; (4) HN B WHS B
ion of marks of 100 :
shown in following tahle. pa . 0N is 17, 100 Reifal & ot w1 ver Ara T
djsmbtl[fun b the mode of a.“.h“ o 3] m - — i
Y r— gl P
[7% of 'JH\T]_T]T Mas | es .75 T5-8D NP T 55 | &S | 6570 | 078 75-80
-ur-.i H¢ 16 ﬁtIE 3 [ Raffal | 13 | 18 | 45 | 16 | 6 2 |
(1) 624 eLiens !
(2) 62 (1) 624
(3) 614 (2) 62
(4) 60 3) 61.4
_ ) 60
I8. In which city was Bikaner Lok Par; 1
founded in 19362 shad 18, ﬂmﬁ?mqﬁﬂﬁﬂﬁmw%ﬁfaﬂ
(1) Bombay YBY H 887
(2) Calcutta (1) a3
(3) Madras 2) FHawar
(4) Delhi (3) wHE™w
4) Roh
Page 4 of 16
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19. The author of ‘Hind Swaraj’ 18 -
‘ (1) Ram Manohar Loha i
(2) Swami Dayanand Sarasw
(3) Mahatma Gandhi r
(4) Maulana Abul Kalam AZ# Ly
a4 means &, =

20, Ina certain code languag s eans 4. With

o' 'x' ans ‘-,
means X, X mc

o the above code language

mftf:::[he following three statements —
* ;‘i""t: (1 - 5x10-15+20425+30 = 355
ateme

: =22%x6+6+42-12 = 60
varement 11 = 44-117 2X
;::::mem [1 : (10-5)=50x(25x5)+40 = 50
+ Which statements arc true?

(1) Only 1 and 111
(2) Only 1T and 11
(3) Only 1 and Il
(4) All I. IT and 111

21, The dimensions of a cuboid are proportional
' (0 5:3:4. The total surface area of the cuboid
. 846 cm’. Volume of this cuboid is -
(1) 60 cm’
(2) 540 cm’
(3) 1620 cm’
(4) 4860 cm’
22. Who was made the Chief Minister of Greater
Rajasthan (30 March, 1949)”
(1) Manikya Lal Verma
(2) Jay Narayan Vyas
(3) Hiralal Shastn
(4) Tikaram Palhiwal
23. The writer of Vansh Bhaskar is -
(1) Padmanabh
(2) Suryamal Misran
(3) Karmdan
(4) Shivdas Gautam

4. |f 3h-1°x311*'3=§, then value of x is -
(1 !
4

(2 3
3) 2
4) 4
25. Duning 1857 revolution the ruler of Karauli
was -
(1) Maharaja Bhagwan Singh
(2) Maharaja Madan Pal
(3) Maharaja Jaswant Singh I1
(4) Maharaja Gopal Singh

OB-%
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22.
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= wwror » m e
(1) I g
(2)

(3)  wHEren i

@) HE IS FEH Ao
@WWﬂ'+‘qu:.¢.m
X, WY Haey - L @y "oty '-+- ‘ B
W A B el A Pt dey g O
frar #ifirg - i,
PUT 1 : 5x10-15+20425+30 = 355
DU : 44-11+2%6:642-12 = 60

B I 2 (10-5)=50%(25x5)=40 = 50
B § YA Ty 27

(1) asalafm

(2) ®Haan =i

(3) @Il

4) Lo m

TH " B A 534 3 AR L

1 [A YU HAGE 846 T AL B | HA
& JATA '~

(1) 6099 Ff
(2) 540991 HAY.
(3) 1620 9 |7,
(4) 4860 U= |9

gES ST (30 HTE, 1949) FT HEgEA! B9
CEILIERIE ) G

(1) wivrFars ant
(2) TOARTAY a1
(3) BRI ITE
(4) TFR™ greNdrA
A9 Y @ AED & —
(1) 9gH"™
(2) Hiwew Ao
(3) e
(4) Prag™ Waw

aft 310xg133=1 @1 o x e 7 & -
(1) ‘2
4
(2) 3
3) 2
4) 4
1857 wifd & W7g RSN BT IMHS AT —

(1) ¥R $raE e
(2) WHERIAT HgA Ui
(3) #WERM wHa« g 10
(4) wERNT Mura e
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L i (2) MErEET T et

26. &1 A K b =
(1)  memorandum ~ ‘m:l:;: (4) obligatory
i i
(3)  correspondence 9 J
y7. e P o weea i e 6 8 @) ¥1- T fauare
(1) 9gua ~ 9l (4) o | s L

3w — anfde |
28, h’:ﬂ’l frmeg A e o af) i faude 1l 7
(1) afmm — oy 4
(J) HAFT —~ [/ 4 AT
20, ey wre N gt W vy ofl gan ®7

wg + 27

qE@Bi — ¥ o
({i’l "15:}?1?1 O L s fered

(1) EauR (2) ¥E¥
(3) @ (4)
30. I N Y Resy 9wl e 8’ el
(1) Ry, smf v @) res, UL
(3)  SNHE, HETEe (4) A=, WA
31, Choose the correct tense form -
New cycle routes................ and speed limits,.............. on selected routes

(1) has been built, has been reduced
(2) is built, have been reduce
(3) are being built, has reduced

He gave over the whole programme o the reporter
(1) The programme is given by the reported |
(Z2) The reporter gives the whole programmf;

(3) The reporter has given the whole pmgr:u;une

(4)  The whole programme was given over 1o a reporter.

33. Pick the correct direc
t sentence for the following inds ~
I asked him if he knew my name. B i

(1) Isaid, “Do you know my name.”
(2) Isaid to him, “Do you know my name?”
(3) Iasked, “Did you know my name?”
= C(:) I'say, “Do you know my name?” -
; 0ose the correct English translation of the w Hyfte HeAr
ords -
(1) emoluments

(2) corroborate
(3) compulsory
(4) official decorum
35. Identify the correct preposition for the blank —

If you want to go abroad you must be ' '
T f
ok possession of a valid passport.
(2) at
(3) before

@) throug | ,

OB- % Page6of16

Scanned with CamScanner



following statement/s about

= :Z::i:;::f of the House of People “fdl:ﬂ
ue? Identify the correct answer from the
' oW —
;odc g“;::tmmum strength of the House
 of the People can be 552.
B. At present the strength of the House
of the People can be 542.
Cc.  The House of the Pcople cannot have
more than 530 members from the
stales.
D. There are 131 seats reserved in the
" House of the People: 83 for the D. SIC R I Wﬁﬁgm &
Scheduled Castes and 48 for the 283 Cﬂ'ﬂ’ﬂfﬁa st @ RT3 7
Scheduled Tnibes. Cﬂa'ﬂfﬂﬂ Sanfaat & f:(x_rql
Code : &He:
(1) Only A is true (1) @9 A w2
(2) Only B and C are true (2) BIAB R C W&
(3) Only A and C are true (3) Daet AR C wH 2
(4) Only A and D are true @) I A IR D wh 2
37. Which of the following statement about the 37, 9Rd & wufy & Fafer ofdg & o 3
| veto power of the President of India is  fFy=ifaifla 4 9 a9 ar s 7o %
| incorrect” M) - Srontar A

(1) The President can disallow such bills
passed by the State Legislature as are

reserved by the State Governor. e & forg aRféa & o &
(2) The President may also direct the 2) w&ufd W™ fmer ® I
Governor to return the bill to the FaeRnE| gR1 Hfdar &3 3 foro
State Legislature for reconsideration. T 1 FERE &R awar
4 (3) If the State Legislature returns the 3) ke Wa}mmf:ﬁ;ﬁ &I A9H
| bill to the President, the latter has no ALY & 91 IT® qrE
option but to sign it m qﬁi m: W St
(4) The power of direct disallowance of 4) T mﬁm?:mqqm%a lfaraqm B
a bill passed by the State Legislature W gifed A€ F @ ufdm
‘will be virtually available to the AU BT A AU D HEH
President through the Governor. | i 8 2
38.  Which of the following type of climate is not 38 Frefafaa 4 9 @9 @ T, T 5
found in Rajasthan? T8 urd sl &7
(1) BWhw (1) BWhw
((;; gswl:" (2) BSKw
(4} Aw | T L

(4) Aw
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dis 9. frva @1 WY

: |
39. Bhadla Solar Park, the largestin e yafvera & -
located in - (1) SEE
(1) Jodhpur (2) AW
(2) Badmer (3) OIHAW
(4) Bikaner 40 Q:-G[)mm T ¥ adar A fpa S1Ee
40. At present how many ‘DIETS’ are available : %
in State of Rajasthan? |
(2) 3 (2) 31
3) 32 (3) ;l;
(4) 33 4 3
41. Which is not a correct maich? 41, @ Gl '\'jﬁﬁ‘-\ﬂ T8 27
e Reifd
Industry Location et
(1) Sodium Sulphate - Didwana (1) R FEHe -
(2) Glass - Dholpur (2) ™ (F14) - HIAR
(3) Fertilizer - Gadhepan 3) SRF - MRUH
(4) Water Meter - Bhiwadi (4) dfey MR A
42. Where in Rajasthan a lab is located to test 42. qﬂﬁﬂwwﬁqﬁﬁﬁmﬁmf
samples of Monkey Pox Virus? TUNITINAT IMAWTA § HEl @nﬁﬂ H T B
(1) TP (1) AR
(4) Ajmer (4) IR
43. Infollowing three cases A, B and C, the force 43. 9 & 7€ &= uRfufyai A, Baen CH, F
F is acting on object of mass m (as shown in Td mEemE & RQue ) w0 e @ & (FE
figure). The direction of displacement is § guiv aER)| Rwems @@ @R @ &N
shown by longer arrow. The work done in E’?Tth’TﬂTgl A. B @I Cﬁiﬂ'ﬂm

cases A, B and C will be respectively.

é}~«i:1—»~:|—» |4n_‘k—'<—D—+—-D—-'

(1) zero, negative and positive (1) ¥, FNHS TAT TP
(2) zero, positive and negative (2) A, gATHE TUT FOTHSD
(3) positive, zero and negative (3) U99THS, YA TAT FUNHSD
(4) negative, positive and zero (4) FOMTHSD, TTHD T=AT [
44. Which of the following is not the 44. fr=fafaa § 4 &9 @ M gddeor
characteristics of Educational Supervision? fareraan =& &7
(1) Friendly and Democratic (1) %=yl vad gt
k&)  FOTTnal Omy (2) huaRe w3
(3) Improvement of Teaching — learning |
Structure

B-% Page 8 of 16
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Wwhich of the following statement is 45, Preifeilm # & oy gy

e incorrect, when calcium oxide reacts with g’f‘?m" 3‘“5'!“3*-‘! S Hﬂar':f::m’ Hq
water? l.ll e Ilg | | Bory
(1 It produces slaked lime. (2) H'{T'T ‘%Iﬁ%!;r g4 *m*f"i'ﬁﬂ FIm By
(2) [Itreleases a large amount of heat. " WES 0 1 FHon Iuges i
It is an example of decomposition |
(3 e po (3) ;ml U RAayas afafrar r—
) The coefficients of calcium oxide, ) ?!‘lgﬁtm CH _
water and product formed is | in SeRTEE Srer ah HAHI A fﬁﬁfmq
palanced chemical equation. | 81 W SRS Wity
i w,h“.::v ..:jrnpsanly hu; cn_rnmissinncd India’s  46. &\ S9N 3 wra &1 gmay 390 T8z o
first V! olar Hybnd Power Plant of 9ad W g urr @re duain 5 =
100 MW in Jaisalmer? frar 27 5
_l” Reliance Power Limited (1) Ramas gz fafkes
) Suzlon Energy (2) I vA
3) Tata Power Co. Ltd 3) @I gy &
4) AHEJOL, a subsidiary of Adani 4) "nragdnea’ et = Tt

Green Energy limited
g, As per the census 2011, which district of 47,

Rajasthaq has highest sex ratio? e 3 "
(1) Rajsamand | i I%“'”ﬂ_fﬂﬂ Haias 2
e @) e
(3) Dungarpur 3 |
(4) Pratapgarh :4; FRY
48. How many total medals were won by 48. ) @S 51%1:11 o] Wl ¥ Ir :
Rajas(h:n 1s fourth Khelo India Youth fFTY yesd A g_} WA A7 HA
(ames. :
) 2 (1) 32
@ 34 2) 34
3 36 3) 36
() 28 @4) 38
49.  Propanone is a three carbon compound with 49, W=7 w AN wEe dfe 2 .
lhcfunctlona]gmup- fi W‘g__ : 'hﬂh
(1) Carboxylic acid (1) ®EEfas e
(2) * Aldehyde 2
(3) Ketone & ICSETES
(4) Alcohol
(4) UVemrElE

50. The State Institute of Educational Research 50 AR I A ' |
e : I ud wfdwyoy
and Training (SIERT) now RSCERT was W (THIREARA), N 3 IR n

established on which date and year? ARZ). B AW | W oen & B miwen s
| ; 5

(1) 10 Oct, 1977 | R(:[) Q'ql;!i ché l!:"f?

(2) 11 Nov, 1978 (2) 11 Nol;r 1978

(3) 11 Nov, 1987 (3) 11 Nov, 1987

(4) 10 0Oct, 1987

(4) 10 Oct, 1987
—_—

OB-% . Page 9 of 16
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5§1. Recently Indian startup Pixxel has Iauncha‘:d
its first fully fledged commercial satellite
with Musk’s SpaceX Falcon-3 rocket. What

is the name of the satellite?

(1) Shakuntala
(2) Damayanti

(3) Draupadi
(4) Sita
52. In which Schedule of the Constitution. the

state wise allocation of Rajya Sabha seats is
mentioned?

(1) Fourth Schedule

(2) Eighth Schedule

(3) Tenth Schedule
(4) Third Schedule

53. What is *Agni 4’ which was recently tested
by India?

(1) Inter-mediate Range Ballistic Missile
(2) Next Generation Corvent
(3) Anti-Submarine Missile

(4) Inter-Continental Ballistic Missile

54. Which of the following is not a Biosphere
Reserve of India?

(1) Pachmarhi

(2) Kachchh

(3) Panna
(4) Valley of flowers

55." In which areas of Rajasthan, star sand dunes
are found?

(I) Mohangarh area (Jaisalmer) &
Suratgarh area (Ganganagar)

(2) Sardarshahar area (Churu) &
Shekhawati area (Sikar)

(3) Siwana area (Barmer) & Phalodi area
(Jodhpur) . |

(4) Mohangarh area (Jaisalmer) &
Kolayat area (Bikaner)

S2.

S3.

SS.

2) FE T Frede \
) A waud e
@) 3F=X Bifea=a fafes Maea

Fefoafaa % 4 a9 o1 vra & TR
Rad =8 22

(1) u=Hg) |
(2) =

(3) 9= \
@) G B ard

TTH & B A &3 |, aN1 ags|
U W #2 b

(1) HETTE &3 (Shaeri) vd [RaTe &=
(TTTIR)

(2) WERYN &3 (g%) vd J@ED O
(W)

3) R &3 @) W wed A
(SIeTgR)

@) HETTE & (GRIH) Td FYeraa &
@rR)
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| ! 56. IRAHE
2009 15 related with Y ¢ Glii?'aq 2009 &1 FA™ 4 B
Duties of Appmpﬁﬂlc Government, (1) “ﬂﬁlﬂ TWIHR, wrna ik 2t
ties
¢ Local Authority and Parents ) Hren Wen @ wde
2) Responsibilitics of Schools an R L ey Gmreremm—"
st i 3) @ s w A
‘ ight of chi
e Pn“m:m 02:1 lligiumcnlnry (4) unfeam fwar @1 greama AN Tam
Curriculum |
(4) Education and its completion g1 @ s -
List-] with List-Tl and select the 57. wa-1 &1 e lﬁﬁ;;l ﬂnmﬁﬁm g2 ;rr]fa-m
57. fatch ing the code given below & #a Ry Y F2 Ael S99 &1 Ju+
" comect ansWer by using h
thIiSISL-;st ] L1l 2l ”ﬁﬂf-l 'q.f(.i[]
Kamataka (i) 25 Lok Sabha (A) WAlCH (i) ;51 e |l
(A) G s - '
@) Andhra (i) 26 Lok Sabha (B) g wew (i) 26 A® HA
Pradesh Seats | &= |
() Gujarat (iii) 21 Lok Sabha (C) o™ Gii) 21 @ HH
Seals 25
() Odisha (iv) 28 Lok Sabha (D)  shfeEm Gv) 28 @@ |
Seats &
Code: 7T
A B C . D A B C D
(1) 1 i ! v (1) iii i i w
2) 1w ! i it (2) iv i Ij‘ 111
(3) iv i i il 3) iv i i m
4) v i i il | (4) v i ! il
58. The New Mineral Policy 2015, of Rajasthan  58. o & A% |t A 2015; F=fataa
is focusing on which of the following ¥4 B ¥ qgel W @R <l &
aspects? A. I Ui
B, . DueSafety messoses . freud /e arRid
& Cost effectiveness D. e
D. Productivity and Conservation
4 (1) A B3RC
(1) A, BandC | 3
(2) A,CandD (2) AC3RD
(3) B,CandD @) B.cshm
(4) A,B,CandD (4) A,B,C3RD
OB =% ' ~ Pagellof16
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&l
. Crffg @ FFUR, WRA WK g
§9. Who according to the following Is the 59.

Advisor to the

Principal  Account
Government of India? . (1) WRa @ Priad iR T gD
(1) Comptroller and Auditor General 0
) Indi::p.l (2) fa= Sl
(2) Finance Commission (3) @1 farT
(3) Department of Expenditure ~
(4) Controller Gencrulp:f Accounts (4) @ L ﬁ
60. Maich the following and select the correct 60, fFr=ifaifaa 'lj'ﬁff:('"t_'l Aiforg aen 4 g e
answer from code given below — He ¥ 9 Hel I gﬁ'ﬂ -
List - I List - I1 i -1 ¥ -1
(Industry) (Location) (Fahm) (arafrafa)
(A) Leyland Truck (1) Tonk (A) FTAVE TH (i) A [
Factory )
(B) Instry : ¥
“uﬁw:lenmuon ()  Alwar (B) F=wgh=ewA (i) SR
(C) State Tanneries (i fafies
Limited s en © ®Re@a i) B
(D) Rajasthan (iv)  Dholpur fafacs
Explnsiv:a. & (D) R4 (1v) FjTEFI\’
Chemicals I.td UFAAINHEE U3
Code: fwsa
A B C D ok A B C D
() i ii} iv i (1) i i v |
(2) i i i iv (2) i il i v
3 i i i v 3) i i i v
4 n i 1 v 4) n 1 i v

61. Which scheme was launched by school 6l.
education department of Govt. of Rajasthan
through Radio during Lockdown in Covid

pandemic?

(I) Jan Vani

(2) Shiksha Vani
(3) Shiksha Darshan
(4) Jan Darshan

®IfAe Hemr # o diBeSd d a AT
ar1 e 9@ & 8 e R 3
ha fhen famr g e W Ara=n e @

e off?

(1) <= ami
(2 o amh
(3) e v+
4) 4 9=

bZ. In May 2022, Ramgarh Vishdhari Sanctuary ‘2. Hg 2022 # e fAward Slﬂm B F
has been converted into a tiger reserve. This e R ¥ ofRafifa & R 2 o=
sanctuary is located in which district of ARG oY & A S 3 Reua 22
Rajasthan? wars
(1) Sawai Madhopur 5 il
(2) Karauli :

: 3 @
(4) Kota
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Hentage Site?
(1) Gagron Fort
(2) Walled City of Jaipur

(3) Kumbhalgarh

heeh honoured with Vyas Samman — 20217

(1) Play “Mahabali™

() Play “Firangi Laut Aai”

3) Play “Veergatt”

(4) Play "Paak Napaak™ ,

The functions of educational management
® include/s =

Decision making

d. Control

Choose the correct answer from options
given below -

(1) (a)and (b)

(2) (a),(b),(c)and (d)

(3) (a).(c)and (d)

(4) (d)only

First pour of concrete of Mahi Banswara
Rajasthan Atomic Power Project units | to 4
is expected in which year?

(1) 2023

(2) 2024

(J) 2025

4) 2026

Which of the following is not the
characteristics of Democratic leadership?
(1) It's governed by the altruistic motive.
work without expectation of reward.

“Welfare of another people™ is its

main goal.

(3) The democratic leader serves as
‘master’ of the group rathar than its
‘agent’,

(4) The democratic leader carries out

m and secures actions by

indirect suggestion and setting

example.

67.

(2)

67.

(a) 3R (b)

(a), (b), (¢) 3% (d)

(a), (¢) 3R (d)

4) Fa (d)

HTEl ANAS AR TS R dioree
FHIRAT | | 4 BT 98 FHe wWa fbw 7
q afder &7

(1) 2023

(2) 2024

(3) 2025

W 2026
Fafoafeaa 4 9 a9 & gomifs

fareen = 82 ity
T8 YAUS IRvy e faar e

(1)
(2)
(3)

(2)
Q) wAIR® A9 e @ 9w 3 w9
{28 A b war @ w9 )
SRR UHga av AviEl @) Py
FR 14 ® gAftaa s3a &)

4)

OB-%
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88.  Which of the following hormone inhibits  68. Rrafafad & ¥ BF W EEEA URY Ify

growth in plants? Awan 87 '. B H
(1)  Abscisic acid (1) ufeafas | St
(2)  Gibberellic acid (2) forarfee s | ol
(3) Auxi .
. g 2 S
69, : gUTEA
::‘::-m;; .:t:m;:fm'““‘ I:mlﬂlinn 69. 2011 A THEEN B FTUR, TH B A
census 2 " et e A% por SR ¥ wEd g urier SeEen &1 s

4) 292 ¢4 70.1%
70. °
;l; t::crmse of the power conferred b
o dnr: (1) of Section 29 of the Rth.:ub-
e ml':) O Free and Cnmpulsnry Edlwali;:
i the Central Government authon
ICH institute 1o lay down the PR
and r:jrnluutmn Procedure for i
education? E““‘c“m’)’
(1) N.C.TE.
(2) NCER $
(3) NIEpPA
4) NI1OS
71.

74,
a2

(1) 249 %-75.1%
(2) 294 %-715%

3) NVI%-517%
@) 292%-70.1%

e mmhmaﬁmﬁmﬂma%m
T = gfafy PaifRa &A@
WMWW p

1) v @ H 4
2 W ar A

) € § @ o

Scanned with CamScanner



73.  How many members can be nominated by the 73.

State Government in the organizational set up
of Board of Secondary Education Rajasthan?
(1 o7

(2) 11

J) 17

4 27

74.  Which of the following niver 1s having the 74,

largest river basin area in Rajasthan?
(1) Chambal
(2) Luni
(3) Banas
(4) Mahi

75.  Which of the following was not the 75,
prescribed role and responsibilities of
S.LE.R.T. under *State Initiative For Quality
Education (SIQE)’ programme?

(1) To ensure and monitor participation
of government functionaries.

(2) To ensure active participation of
DIETSs and enhance their capacity in
implementation of the programme
activities,

(3) To provide technical support for
effective implementation of
programme.

(4) Regular review of the academic
inputs.
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